

Bid Summary
23652 - Horizon Drive and G Road Roundabout

Bid Opening: January 17, 2025

By: Lisa Froshaug, Project Engineer

Item No.	CDOT, City Ref.	Description	Quantity	Units	Estimate - City of Grand Junction		Sunroc Corp		KSK LLC		United Companies	
					Unit Price	Extended Price	Unit Price	Extended Price	Unit Price	Extended Price	Unit Price	Extended Price
1	201-00000	Clearing and Grubbing	1.	LS	\$ 5,000.00	\$ 5,000.00	\$ 3,150.00	\$ 3,150.00	\$ 5,200.00	\$ 5,200.00	\$ 14,900.00	\$ 14,900.00
2	202-00010	Removal of Tree	1.	EA	\$ 390.00	\$ 390.00	\$ 625.00	\$ 625.00	\$ 2,000.00	\$ 2,000.00	\$ 1,560.00	\$ 1,560.00
3	202-00019	Removal of Inlet	5.	EA	\$ 1,330.00	\$ 6,650.00	\$ 995.00	\$ 4,975.00	\$ 1,350.00	\$ 6,750.00	\$ 1,720.00	\$ 8,600.00
4	202-00021	Removal of Manhole	2.	EA	\$ 1,330.00	\$ 2,660.00	\$ 1,850.00	\$ 3,700.00	\$ 1,600.00	\$ 3,200.00	\$ 2,860.00	\$ 5,720.00
5	202-00035	Removal of Pipe	175.	LF	\$ 21.00	\$ 3,675.00	\$ 48.75	\$ 8,531.25	\$ 41.00	\$ 7,175.00	\$ 57.00	\$ 9,975.00
6	202-00090	Removal of Delineator	1.	EA	\$ 100.00	\$ 100.00	\$ 150.00	\$ 150.00	\$ 50.00	\$ 50.00	\$ 89.00	\$ 89.00
7	202-00190	Removal of Concrete Median Cover Material	89.	SY	\$ 12.50	\$ 1,112.50	\$ 6.00	\$ 534.00	\$ 15.00	\$ 1,335.00	\$ 17.70	\$ 1,575.30
8	202-00200	Removal of Sidewalk	424.	SY	\$ 8.75	\$ 3,710.00	\$ 4.00	\$ 1,696.00	\$ 15.00	\$ 6,360.00	\$ 19.40	\$ 8,225.60
9	202-00201	Removal of Curb	555.	LF	\$ 6.75	\$ 3,746.25	\$ 3.00	\$ 1,665.00	\$ 4.00	\$ 2,220.00	\$ 10.30	\$ 5,716.50
10	202-00202	Removal of Gutter	36.	LF	\$ 13.50	\$ 486.00	\$ 3.00	\$ 108.00	\$ 9.50	\$ 342.00	\$ 21.90	\$ 788.40
11	202-00203	Removal of Curb and Gutter	855.	LF	\$ 5.80	\$ 4,959.00	\$ 1.75	\$ 1,496.25	\$ 8.20	\$ 7,011.00	\$ 13.00	\$ 11,115.00
12	202-00204	Removal of Curb, Gutter and Sidewalk	1,009.	LF	\$ 20.00	\$ 20,180.00	\$ 4.75	\$ 4,792.75	\$ 14.00	\$ 14,126.00	\$ 17.15	\$ 17,304.35
13	202-00206	Removal of Concrete Curb Ramp	32.	SY	\$ 30.80	\$ 985.60	\$ 12.00	\$ 384.00	\$ 18.00	\$ 576.00	\$ 49.25	\$ 1,576.00
14	202-00210	Removal of Concrete Pavement	8.	SY	\$ 10.15	\$ 81.20	\$ 45.00	\$ 360.00	\$ 65.00	\$ 520.00	\$ 137.00	\$ 1,096.00
15	202-00220	Removal of Asphalt Mat	730.	SY	\$ 1.80	\$ 1,314.00	\$ 5.50	\$ 4,015.00	\$ 7.50	\$ 5,475.00	\$ 14.00	\$ 10,220.00
16	202-00240	Removal of Asphalt Mat (Planing)	6,921.	SY	\$ 3.75	\$ 25,953.75	\$ 4.75	\$ 32,874.75	\$ 2.00	\$ 13,842.00	\$ 7.85	\$ 54,329.85
17	202-00250	Removal of Pavement Marking	846.	SF	\$ 6.95	\$ 5,879.70	\$ 4.30	\$ 3,637.80	\$ 5.00	\$ 4,230.00	\$ 4.00	\$ 3,384.00
18	202-00700	Removal of Light Standard	2.	EA	\$ 994.71	\$ 1,989.42	\$ 430.00	\$ 860.00	\$ 450.00	\$ 900.00	\$ 400.00	\$ 800.00
19	202-00705	Removal of Light Standard Foundation	2.	EA	\$ 810.00	\$ 1,620.00	\$ 585.00	\$ 1,170.00	\$ 1,150.00	\$ 2,300.00	\$ 550.00	\$ 1,100.00
20	202-00827	Removal of Pull Box	7.	EA	\$ 270.00	\$ 1,890.00	\$ 305.00	\$ 2,135.00	\$ 425.00	\$ 2,975.00	\$ 290.00	\$ 2,030.00
21	202-00840	Removal of Traffic Signal Pole	4.	EA	\$ 3,300.00	\$ 13,200.00	\$ 1,100.00	\$ 4,400.00	\$ 1,650.00	\$ 6,600.00	\$ 1,030.00	\$ 4,120.00

Bid Summary
23652 - Horizon Drive and G Road Roundabout

Bid Opening: January 17, 2025

By: Lisa Froshaug, Project Engineer

Item No.	CDOT, City Ref.	Description	Quantity	Units	Estimate - City of Grand Junction		Sunroc Corp		KSK LLC		United Companies	
					Unit Price	Extended Price	Unit Price	Extended Price	Unit Price	Extended Price	Unit Price	Extended Price
22	202-00848	Removal of Traffic Signal Controller and Cabinet	1.	EA	\$ 726.16	\$ 726.16	\$ 730.00	\$ 730.00	\$ 1,275.00	\$ 1,275.00	\$ 690.00	\$ 690.00
23	203-00010	Unclassified Excavation (Complete In Place)	3,662.	CY	\$ 32.00	\$ 117,184.00	\$ 16.00	\$ 58,592.00	\$ 31.00	\$ 113,522.00	\$ 47.65	\$ 174,494.30
24	203-00100	Muck Excavation	1,103.	CY	\$ 40.00	\$ 44,120.00	\$ 15.25	\$ 16,820.75	\$ 51.00	\$ 56,253.00	\$ 47.25	\$ 52,116.75
25	203-01597	Potholing	10.	HOUR	\$ 325.00	\$ 3,250.00	\$ 275.00	\$ 2,750.00	\$ 500.00	\$ 5,000.00	\$ 600.00	\$ 6,000.00
26	206-00100	Structure Backfill (Class 1)	15.	CY	\$ 54.00	\$ 810.00	\$ 110.00	\$ 1,650.00	\$ 185.00	\$ 2,775.00	\$ 123.50	\$ 1,852.50
27	207-00205	Topsoil	376.	CY	\$ 52.00	\$ 19,552.00	\$ 19.00	\$ 7,144.00	\$ 22.00	\$ 8,272.00	\$ 175.00	\$ 65,800.00
28	207-00210	Stockpile Topsoil	376.	CY	\$ 19.00	\$ 7,144.00	\$ 12.00	\$ 4,512.00	\$ 18.00	\$ 6,768.00	\$ 38.50	\$ 14,476.00
29	208-00002	Erosion Log (12 inch)	260.	LF	\$ 3.00	\$ 780.00	\$ 6.00	\$ 1,560.00	\$ 20.00	\$ 5,200.00	\$ 7.50	\$ 1,950.00
30	208-00035	Aggregate Bag	50.	LF	\$ 4.00	\$ 200.00	\$ 17.00	\$ 850.00	\$ 20.00	\$ 1,000.00	\$ 15.75	\$ 787.50
31	208-00046	Prefabricated Concrete Washout Structure (Type 1)	1.	EA	\$ 12,000.00	\$ 12,000.00	\$ 3,500.00	\$ 3,500.00	\$ 5,000.00	\$ 5,000.00	\$ 10,990.00	\$ 10,990.00
32	208-00054	Storm Drain Inlet Protection (Type II)	11.	EA	\$ 268.00	\$ 2,948.00	\$ 150.00	\$ 1,650.00	\$ 250.00	\$ 2,750.00	\$ 270.00	\$ 2,970.00
33	208-00075	Prefabricated Vehicle Tracking Pad	4.	EA	\$ 9,500.00	\$ 38,000.00	\$ 6,350.00	\$ 25,400.00	\$ 2,000.00	\$ 8,000.00	\$ 6,300.00	\$ 25,200.00
34	208-00103	Removal and Disposal of Sediment (Labor)	20.	HOUR	\$ 41.00	\$ 820.00	\$ 100.00	\$ 2,000.00	\$ 20.00	\$ 400.00	\$ 50.00	\$ 1,000.00
35	208-00105	Removal and Disposal of Sediment (Equipment)	20.	HOUR	\$ 110.00	\$ 2,200.00	\$ 133.00	\$ 2,660.00	\$ 20.00	\$ 400.00	\$ 290.00	\$ 5,800.00
36	208-00106	Sweeping (Sediment Removal)	60.	HOUR	\$ 125.00	\$ 7,500.00	\$ 130.00	\$ 7,800.00	\$ 50.00	\$ 3,000.00	\$ 308.00	\$ 18,480.00
37	208-00107	Removal of Trash	20.	HOUR	\$ 42.00	\$ 840.00	\$ 102.00	\$ 2,040.00	\$ 25.00	\$ 500.00	\$ 170.00	\$ 3,400.00
38	208-00207	Erosion Control Management (ECM)	60.	DAY	\$ 50.00	\$ 3,000.00	\$ 102.00	\$ 6,120.00	\$ 20.00	\$ 1,200.00	\$ 500.00	\$ 30,000.00
39	208-00300	Temporary Berms	400.	LF	\$ 1.70	\$ 680.00	\$ 1.50	\$ 600.00	\$ 1.00	\$ 400.00	\$ 5.50	\$ 2,200.00
40	209-00600	Dust Palliative (Magnesium Chloride)	1,000.	GAL	\$ 2.00	\$ 2,000.00	\$ 1.50	\$ 1,500.00	\$ 1.50	\$ 1,500.00	\$ 0.75	\$ 750.00
41	210-00810	Reset Ground Sign	14.	EA	\$ 440.00	\$ 6,160.00	\$ 275.00	\$ 3,850.00	\$ 850.00	\$ 11,900.00	\$ 515.00	\$ 7,210.00
42	210-02510	Relay Sprinkler System	1.	LS	\$ 2,500.00	\$ 2,500.00	\$ 3,050.00	\$ 3,050.00	\$ 3,000.00	\$ 3,000.00	\$ 2,860.00	\$ 2,860.00

Bid Summary
23652 - Horizon Drive and G Road Roundabout

Bid Opening: January 17, 2025

By: Lisa Froshaug, Project Engineer

Item No.	CDOT, City Ref.	Description	Quantity	Units	Estimate - City of Grand Junction		Sunroc Corp		KSK LLC		United Companies	
					Unit Price	Extended Price	Unit Price	Extended Price	Unit Price	Extended Price	Unit Price	Extended Price
43	210-04010	Adjust Manhole	7.	EA	\$ 1,350.00	\$ 9,450.00	\$ 660.00	\$ 4,620.00	\$ 350.00	\$ 2,450.00	\$ 945.00	\$ 6,615.00
44	210-04015	Modify Manhole	1.	EA	\$ 2,750.00	\$ 2,750.00	\$ 3,700.00	\$ 3,700.00	\$ 2,500.00	\$ 2,500.00	\$ 4,580.00	\$ 4,580.00
45	210-04020	Modify Inlet	1.	EA	\$ 2,750.00	\$ 2,750.00	\$ 2,650.00	\$ 2,650.00	\$ 2,500.00	\$ 2,500.00	\$ 3,320.00	\$ 3,320.00
46	210-04050	Adjust Valve Box	2.	EA	\$ 675.00	\$ 1,350.00	\$ 602.00	\$ 1,204.00	\$ 2,500.00	\$ 5,000.00	\$ 260.00	\$ 520.00
47	212-00706	Seeding (Native) Drill	0.26	AC	\$ 1,435.00	\$ 373.10	\$ 3,200.00	\$ 832.00	\$ 5,000.00	\$ 1,300.00	\$ 3,000.00	\$ 780.00
48	212-00032	Soil Conditioning	0.19	AC	\$ 4,000.00	\$ 760.00	\$ 13,250.00	\$ 2,517.50	\$ 5,000.00	\$ 950.00	\$ 12,500.00	\$ 2,375.00
49	212-00050	Sod	60.	SF	\$ 3.79	\$ 227.40	\$ 4.00	\$ 240.00	\$ 6.00	\$ 360.00	\$ 3.50	\$ 210.00
50	213-00065	Type 1 Inorganic Mulch Rock, 1-1/2" Tan Granite	77.65	CY	\$ 100.00	\$ 7,765.00	\$ 136.50	\$ 10,599.23	\$ 120.00	\$ 9,318.00	\$ 128.25	\$ 9,958.61
51	213-00065	Type 2 Inorganic Mulch Rock, 3" Purple La Sal	16.39	CY	\$ 110.00	\$ 1,802.90	\$ 192.00	\$ 3,146.88	\$ 100.00	\$ 1,639.00	\$ 180.00	\$ 2,950.20
52	213-00065	Type 3 Inorganic Mulch Rock	8.8	CY	\$ 110.00	\$ 968.00	\$ 140.00	\$ 1,232.00	\$ 100.00	\$ 880.00	\$ 128.25	\$ 1,128.60
53	213-00061	Mulch Tackifier	52.	LB	\$ 4.40	\$ 228.80	\$ 2.50	\$ 130.00	\$ 50.00	\$ 2,600.00	\$ 2.30	\$ 119.60
54	213-00440	Metal Landscape Border (1/8 x 4 Inch)	946.	LF	\$ 9.15	\$ 8,655.90	\$ 9.50	\$ 8,987.00	\$ 40.00	\$ 37,840.00	\$ 9.00	\$ 8,514.00
55	213-00700	Landscape Boulder (Small 3'x2'x2')	91.	EA	\$ 610.00	\$ 55,510.00	\$ 110.00	\$ 10,010.00	\$ 280.00	\$ 25,480.00	\$ 105.00	\$ 9,555.00
56	213-00705	Landscape Boulder (Large, 3'x4'x2')	1.	EA	\$ 2,300.00	\$ 2,300.00	\$ 215.00	\$ 215.00	\$ 750.00	\$ 750.00	\$ 200.00	\$ 200.00
57	214-00000	Landscape Maintenance	1.	LS	\$ 3,000.00	\$ 3,000.00	\$ 3,700.00	\$ 3,700.00	\$ 20,000.00	\$ 20,000.00	\$ 3,450.00	\$ 3,450.00
58	214-00215	Deciduous Tree (1.5 Inch Caliper)	1.	EA	\$ 420.00	\$ 420.00	\$ 600.00	\$ 600.00	\$ 1,700.00	\$ 1,700.00	\$ 570.00	\$ 570.00
59	214-00350	Deciduous Shrub (5 Gallon Container)	27.	EA	\$ 56.00	\$ 1,512.00	\$ 92.00	\$ 2,484.00	\$ 60.00	\$ 1,620.00	\$ 85.70	\$ 2,313.90
60	214-00506	Evergreen Tree (6 Foot) (Ball and Burlap)	2.	EA	\$ 620.00	\$ 1,240.00	\$ 750.00	\$ 1,500.00	\$ 600.00	\$ 1,200.00	\$ 710.00	\$ 1,420.00
61	214-00650	Evergreen Shrub (5 Gallon Container)	10.	EA	\$ 56.00	\$ 560.00	\$ 98.00	\$ 980.00	\$ 75.00	\$ 750.00	\$ 91.50	\$ 915.00
62	214-00910	Perennials (1 Gallon Container)	176.	EA	\$ 22.50	\$ 3,960.00	\$ 27.00	\$ 4,752.00	\$ 70.00	\$ 12,320.00	\$ 25.15	\$ 4,426.40
63	240-00015	Wildlife Biologist	40.	HOUR	\$ 150.00	\$ 6,000.00	\$ 110.00	\$ 4,400.00	\$ 200.00	\$ 8,000.00	\$ 325.00	\$ 13,000.00

Bid Summary
23652 - Horizon Drive and G Road Roundabout

Bid Opening: January 17, 2025

By: Lisa Froshaug, Project Engineer

Item No.	CDOT, City Ref.	Description	Quantity	Units	Estimate - City of Grand Junction		Sunroc Corp		KSK LLC		United Companies	
					Unit Price	Extended Price	Unit Price	Extended Price	Unit Price	Extended Price	Unit Price	Extended Price
64	250-00224	Hazardous Waster Disposal (Radioactive)	35.	CY	\$ 20.00	\$ 700.00	\$ 27.00	\$ 945.00	\$ 10.00	\$ 350.00	\$ 297.00	\$ 10,395.00
65	304-03000	Aggregate Base Course (Class 3)	1,980.	TON	\$ 42.00	\$ 83,160.00	\$ 29.75	\$ 58,905.00	\$ 59.00	\$ 116,820.00	\$ 36.00	\$ 71,280.00
66	304-06000	Aggregate Base Course (Class 6)	3,856.	TON	\$ 69.00	\$ 266,064.00	\$ 44.25	\$ 170,628.00	\$ 62.00	\$ 239,072.00	\$ 48.00	\$ 185,088.00
67	306-01000	Reconditioning	7,468.	SY	\$ 2.22	\$ 16,578.96	\$ 3.00	\$ 22,404.00	\$ 3.00	\$ 22,404.00	\$ 5.10	\$ 38,086.80
68	403-00721	Hot Mix Asphalt (Patching) (Asphalt)	20.	SY	\$ 25.00	\$ 500.00	\$ 293.00	\$ 5,860.00	\$ 40.00	\$ 800.00	\$ 155.00	\$ 3,100.00
69	403-34741	Hot Mix Asphalt (Grading SX) (75) (PG 64-22)	147.	TON	\$ 125.00	\$ 18,375.00	\$ 183.00	\$ 26,901.00	\$ 250.00	\$ 36,750.00	\$ 201.00	\$ 29,547.00
70	411-10255	Emulsified Asphalt (Slow-Setting)	80.	GAL	\$ 1.40	\$ 112.00	\$ 6.00	\$ 480.00	\$ 10.00	\$ 800.00	\$ 6.30	\$ 504.00
71	412-00600	Concrete Pavement (6 Inch)	138.	SY	\$ 67.50	\$ 9,315.00	\$ 80.00	\$ 11,040.00	\$ 159.00	\$ 21,942.00	\$ 81.15	\$ 11,198.70
72	412-00800	Concrete Pavement (8 Inch)	80.	SY	\$ 70.75	\$ 5,660.00	\$ 92.00	\$ 7,360.00	\$ 170.00	\$ 13,600.00	\$ 91.75	\$ 7,340.00
73	412-01100	Concrete Pavement (11 Inch)	5,707.	SY	\$ 125.00	\$ 713,375.00	\$ 143.90	\$ 821,237.30	\$ 178.00	\$ 1,015,846.00	\$ 140.00	\$ 798,980.00
74	412-01105	Concrete Pavement (11 Inch) (Special)	475.	SY	\$ 150.00	\$ 71,250.00	\$ 265.00	\$ 125,875.00	\$ 249.00	\$ 118,275.00	\$ 250.00	\$ 118,750.00
75	412-01120	Concrete Pavement (11 Inch) (Fast Track)	284.	SY	\$ 155.00	\$ 44,020.00	\$ 185.00	\$ 52,540.00 [1]	\$ 190.00	\$ 53,960.00	\$ 180.00	\$ 51,120.00
76	420-00133	Geotextile (Separator) (Class 2)	1,650.	SY	\$ 10.00	\$ 16,500.00	\$ 1.95	\$ 3,217.50	\$ 5.00	\$ 8,250.00	\$ 4.20	\$ 6,930.00
77	506-01020	Geogrid Reinforcement	1,650.	SY	\$ 1.75	\$ 2,887.50	\$ 1.50	\$ 2,475.00	\$ 5.00	\$ 8,250.00	\$ 4.70	\$ 7,755.00
78	603-50012	12 Inch Plastic Pipe	264.	LF	\$ 126.00	\$ 33,264.00	\$ 116.00	\$ 30,624.00	\$ 135.00	\$ 35,640.00	\$ 155.00	\$ 40,920.00
79	604-19005	Inlet Special (5 Foot)	2.	EA	\$ 4,800.00	\$ 9,600.00	\$ 6,450.00	\$ 12,900.00	\$ 7,900.00	\$ 15,800.00	\$ 8,990.00	\$ 17,980.00
80	604-19010	Inlet Special (10 Foot)	2.	EA	\$ 6,200.00	\$ 12,400.00	\$ 9,500.00	\$ 19,000.00	\$ 8,400.00	\$ 16,800.00	\$ 13,050.00	\$ 26,100.00
81	604-30005	Manhole Slab Base (5 Foot)	2.	EA	\$ 4,480.00	\$ 8,960.00	\$ 6,400.00	\$ 12,800.00	\$ 8,700.00	\$ 17,400.00	\$ 8,130.00	\$ 16,260.00
82	604-30010	Manhole Slab Base (10 Foot)	3.	EA	\$ 6,200.00	\$ 18,600.00	\$ 7,725.00	\$ 23,175.00	\$ 9,100.00	\$ 27,300.00	\$ 9,615.00	\$ 28,845.00
83	604-83108	8 Inch Plastic Pipe Sewer (Polyvinyl Chloride)	42.	LF	\$ 165.00	\$ 6,930.00	\$ 77.00	\$ 3,234.00	\$ 232.00	\$ 9,744.00	\$ 96.15	\$ 4,038.30
84	608-00000	Concrete Sidewalk	1,004.	SY	\$ 51.00	\$ 51,204.00	\$ 80.00	\$ 80,320.00	\$ 96.00	\$ 96,384.00	\$ 81.35	\$ 81,675.40

Bid Summary
23652 - Horizon Drive and G Road Roundabout

Bid Opening: January 17, 2025

By: Lisa Froshaug, Project Engineer

Item No.	CDOT, City Ref.	Description	Quantity	Units	Estimate - City of Grand Junction		Sunroc Corp		KSK LLC		United Companies	
					Unit Price	Extended Price	Unit Price	Extended Price	Unit Price	Extended Price	Unit Price	Extended Price
85	608-00010	Concrete Curb Ramp	139.	SY	\$ 52.00	\$ 7,228.00	\$ 107.00	\$ 14,873.00	\$ 177.00	\$ 24,603.00	\$ 115.00	\$ 15,985.00
86	608-00015	Detectable Warnings	316.	SF	\$ 116.00	\$ 36,656.00	\$ 51.00	\$ 16,116.00	\$ 75.00	\$ 23,700.00	\$ 48.00	\$ 15,168.00
87	609-20010	Curb Type 2 (Section B)	610.	LF	\$ 16.75	\$ 10,217.50	\$ 40.00	\$ 24,400.00	\$ 38.00	\$ 23,180.00	\$ 42.40	\$ 25,864.00
88	609-21023	Curb and Gutter Type 2 (Section II-B) (Special)	1,436.	LF	\$ 23.00	\$ 33,028.00	\$ 56.00	\$ 80,416.00	\$ 49.00	\$ 70,364.00	\$ 58.00	\$ 83,288.00
89	609-21110	Curb and Gutter Type 2 (Section I-B) (Special)	2,007.	LF	\$ 19.75	\$ 39,638.25	\$ 52.00	\$ 104,364.00	\$ 47.00	\$ 94,329.00	\$ 55.00	\$ 110,385.00
90	610-00026	Median Cover Material (6 Inch Patterned Concrete)	9,023.	SF	\$ 7.60	\$ 68,574.80	\$ 23.00	\$ 207,529.00	\$ 15.00	\$ 135,345.00	\$ 13.25	\$ 119,554.75
91	610-00100	Median Edging (Pattern Concrete)	445.	LF	\$ 15.35	\$ 6,830.75	\$ 23.50	\$ 10,457.50	\$ 67.00	\$ 29,815.00	\$ 20.50	\$ 9,122.50
92	612-00041	Delineator (Flexible) (Type I)	1.	EA	\$ 30.20	\$ 30.20	\$ 68.00	\$ 68.00	\$ 250.00	\$ 250.00	\$ 115.00	\$ 115.00
93	613-01200	2 Inch Electrical Conduit (Plastic)	2,770.	LF	\$ 26.25	\$ 72,712.50	\$ 29.25	\$ 81,022.50	\$ 18.00	\$ 49,860.00	\$ 27.50	\$ 76,175.00
94	613-01201	2 Inch Electrical Conduit (Plastic) (Special)	1,157.	LF	\$ 26.25	\$ 30,371.25	\$ 29.25	\$ 33,842.25	\$ 18.00	\$ 20,826.00	\$ 27.50	\$ 31,817.50
95	613-01201	3/4 Inch Electrical Conduit (Plastic) (Special)	100.	LF	\$ 22.00	\$ 2,200.00	\$ 24.50	\$ 2,450.00	\$ 15.00	\$ 1,500.00	\$ 23.00	\$ 2,300.00
96	613-07002	Type Two Pull Box	35.	EA	\$ 1,165.00	\$ 40,775.00	\$ 1,700.00	\$ 59,500.00	\$ 1,250.00	\$ 43,750.00	\$ 1,600.00	\$ 56,000.00
97	613-07005	Type Five Pull Box	3.	EA	\$ 1,500.00	\$ 4,500.00	\$ 4,700.00	\$ 14,100.00	\$ 3,000.00	\$ 9,000.00	\$ 4,465.00	\$ 13,395.00
98	613-10000	Wiring	1.	LS	\$ 10,600.00	\$ 10,600.00	\$ 42,200.00	\$ 42,200.00	\$ 24,000.00	\$ 24,000.00	\$ 39,610.00	\$ 39,610.00
99	613-30001	Light Standard and Luminaire Single Post Top (Pedestrian)	8.	EA	\$ 7,000.00	\$ 56,000.00	\$ 5,500.00	\$ 44,000.00	\$ 500.00	\$ 4,000.00	\$ 5,150.00	\$ 41,200.00
100	613-30002	Light Standard and Luminaire Dual Head (Pedestrian)	8.	EA	\$ 8,000.00	\$ 64,000.00	\$ 10,600.00	\$ 84,800.00	\$ 7,750.00	\$ 62,000.00	\$ 9,960.00	\$ 79,680.00
101	613-40012	Light Standard Foundation Special	16.	EA	\$ 1,400.00	\$ 22,400.00	\$ 2,500.00	\$ 40,000.00	\$ 2,150.00	\$ 34,400.00	\$ 2,290.00	\$ 36,640.00
102	613-50106	Lighting Control Center (Special)	1.	EA	\$ 12,066.00	\$ 12,066.00	\$ 12,000.00	\$ 12,000.00	\$ 9,500.00	\$ 9,500.00	\$ 11,350.00	\$ 11,350.00
103	614-00011	Sign Panel (Class I)	454.4	SF	\$ 24.00	\$ 10,905.60	\$ 29.00	\$ 13,177.60	\$ 40.00	\$ 18,176.00	\$ 28.60	\$ 12,995.84
104	614-00012	Sign Panel (Class II)	48.	SF	\$ 32.00	\$ 1,536.00	\$ 34.00	\$ 1,632.00	\$ 55.00	\$ 2,640.00	\$ 40.00	\$ 1,920.00
105	614-01503	Steel Sign Support (2-inch Round)(Post and Socket)	44.	EA	\$ 247.00	\$ 10,868.00	\$ 325.00	\$ 14,300.00	\$ 500.00	\$ 22,000.00	\$ 515.00	\$ 22,660.00

Bid Summary
23652 - Horizon Drive and G Road Roundabout

Bid Opening: January 17, 2025

By: Lisa Froshaug, Project Engineer

Item No.	CDOT, City Ref.	Description	Quantity	Units	Estimate - City of Grand Junction		Sunroc Corp		KSK LLC		United Companies	
					Unit Price	Extended Price	Unit Price	Extended Price	Unit Price	Extended Price	Unit Price	Extended Price
106	614-01573	Steel Sign Support (2-1/2 Inch Round NP-40)(Post & Slipbase)	17.	EA	\$ 525.00	\$ 8,925.00	\$ 640.00	\$ 10,880.00	\$ 900.00	\$ 15,300.00	\$ 855.00	\$ 14,535.00
107	614-80003	Rectangular Rapid Flashing Beacon	17.	EA	\$ 10,000.00	\$ 170,000.00	\$ 7,800.00	\$ 132,600.00	\$ 7,000.00	\$ 119,000.00	\$ 7,330.00	\$ 124,610.00
108	614-84000	Traffic Signal Pedestal Pole Steel	1.	EA	\$ 1,300.00	\$ 1,300.00	\$ 5,100.00	\$ 5,100.00	\$ 3,875.00	\$ 3,875.00	\$ 4,810.00	\$ 4,810.00
109	620-00002	Field Office (Class 2)	1.	EA	\$ 9,300.00	\$ 9,300.00	\$ 19,000.00	\$ 19,000.00	\$ 40,000.00	\$ 40,000.00	\$ 47,670.00	\$ 47,670.00
110	620-00020	Sanitary Facility	1.	EA	\$ 1,300.00	\$ 1,300.00	\$ 1,500.00	\$ 1,500.00	\$ 5,000.00	\$ 5,000.00	\$ 7,555.00	\$ 7,555.00
111	621-00450	Detour Pavement	1,700.	SY	\$ 35.00	\$ 59,500.00	\$ 56.00	\$ 95,200.00	\$ 20.00	\$ 34,000.00	\$ 59.50	\$ 101,150.00
112	623-00162	Drip Emitter Tubing	1,007.	LF	\$ 1.45	\$ 1,460.15	\$ 2.80	\$ 2,819.60	\$ 3.00	\$ 3,021.00	\$ 2.90	\$ 2,920.30
113	623-00164	Drip Emitter	452.	EA	\$ 3.50	\$ 1,582.00	\$ 3.25	\$ 1,469.00	\$ 3.00	\$ 1,356.00	\$ 3.05	\$ 1,378.60
114	623-00184	1/2 Inch Flush Unit	55.	EA	\$ 28.50	\$ 1,567.50	\$ 80.00	\$ 4,400.00	\$ 10.00	\$ 550.00	\$ 75.25	\$ 4,138.75
115	623-00600	1-1/2 Inch Plastic Pipe	1,420.	LF	\$ 3.15	\$ 4,473.00	\$ 4.00	\$ 5,680.00	\$ 5.00	\$ 7,100.00	\$ 3.75	\$ 5,325.00
116	623-00601	1 Inch Plastic Pipe	1,343.	LF	\$ 3.00	\$ 4,029.00	\$ 3.50	\$ 4,700.50	\$ 5.00	\$ 6,715.00	\$ 3.30	\$ 4,431.90
117	623-00604	4 Inch Plastic Pipe (Irrigation/Sleeve)	240.	LF	\$ 7.30	\$ 1,752.00	\$ 17.50	\$ 4,200.00	\$ 15.00	\$ 3,600.00	\$ 16.50	\$ 3,960.00
118	623-00606	6 Inch Plastic Pipe (Irrigation/Sleeve)	370.	LF	\$ 11.00	\$ 4,070.00	\$ 20.50	\$ 7,585.00	\$ 20.00	\$ 7,400.00	\$ 19.50	\$ 7,215.00
119	623-01708	1 Inch Backflow Preventor	1.	EA	\$ 3,200.00	\$ 3,200.00	\$ 4,700.00	\$ 4,700.00	\$ 500.00	\$ 500.00	\$ 4,435.00	\$ 4,435.00
120	623-01808	1 Inch Pressure Reducing Valve	1.	EA	\$ 300.00	\$ 300.00	\$ 1,350.00	\$ 1,350.00	\$ 500.00	\$ 500.00	\$ 1,250.00	\$ 1,250.00
121	623-01908	1 Inch Strainer	1.	EA	\$ 152.00	\$ 152.00	\$ 165.00	\$ 165.00	\$ 60.00	\$ 60.00	\$ 155.00	\$ 155.00
122	623-02006	3/4 Inch Drain Valve	1.	EA	\$ 300.00	\$ 300.00	\$ 375.00	\$ 375.00	\$ 40.00	\$ 40.00	\$ 350.00	\$ 350.00
123	623-03108	1 Inch Automatic Control Valve	5.	EA	\$ 530.00	\$ 2,650.00	\$ 1,000.00	\$ 5,000.00	\$ 50.00	\$ 250.00	\$ 950.00	\$ 4,750.00
124	623-03112	1-1/2 Inch Automatic Control Valve	1.	EA	\$ 630.00	\$ 630.00	\$ 1,300.00	\$ 1,300.00	\$ 75.00	\$ 75.00	\$ 1,215.00	\$ 1,215.00
125	623-04000	2-wire Control, including decoders, grounding (Special)	1.	LS	\$ 5,000.00	\$ 5,000.00	\$ 4,000.00	\$ 4,000.00	\$ 3,000.00	\$ 3,000.00	\$ 3,680.00	\$ 3,680.00
126	623-04002	Power Source Wire	130.	LF	\$ 50.00	\$ 6,500.00	\$ 12.25	\$ 1,592.50	\$ 5.00	\$ 650.00	\$ 11.50	\$ 1,495.00

Bid Summary
23652 - Horizon Drive and G Road Roundabout

Bid Opening: January 17, 2025

By: Lisa Froshaug, Project Engineer

Item No.	CDOT, City Ref.	Description	Quantity	Units	Estimate - City of Grand Junction		Sunroc Corp		KSK LLC		United Companies	
					Unit Price	Extended Price	Unit Price	Extended Price	Unit Price	Extended Price	Unit Price	Extended Price
127	623-04006	3/4 Inch Quick Coupler Valve	5.	EA	\$ 310.00	\$ 1,550.00	\$ 300.00	\$ 1,500.00	\$ 40.00	\$ 200.00	\$ 290.00	\$ 1,450.00
128	623-04520	1-1/2 Inch Ball Valve (Special)	5.	EA	\$ 325.00	\$ 1,625.00	\$ 140.00	\$ 700.00	\$ 50.00	\$ 250.00	\$ 130.50	\$ 652.50
129	623-06900	Valve Box	5.	EA	\$ 41.00	\$ 205.00	\$ 46.00	\$ 230.00	\$ 350.00	\$ 1,750.00	\$ 43.50	\$ 217.50
130	623-07601	1 Inch Flow Sensor (Special)	1.	EA	\$ 1,300.00	\$ 1,300.00	\$ 2,400.00	\$ 2,400.00	\$ 800.00	\$ 800.00	\$ 2,250.00	\$ 2,250.00
131	623-08148	60 Station Automatic Controller (Special)	1.	EA	\$ 9,000.00	\$ 9,000.00	\$ 10,500.00	\$ 10,500.00	\$ 3,000.00	\$ 3,000.00	\$ 9,680.00	\$ 9,680.00
132	623-09900	Sprinkler System	1.	LS	\$ 7,300.00	\$ 7,300.00	\$ 1,300.00	\$ 1,300.00	\$ 5,000.00	\$ 5,000.00	\$ 1,200.00	\$ 1,200.00
133	625-00000	Construction Surveying	1.	LS	\$ 50,000.00	\$ 50,000.00	\$ 43,000.00	\$ 43,000.00	\$ 40,000.00	\$ 40,000.00	\$ 83,000.00	\$ 83,000.00
134	626-00000	Mobilization	1.	LS	\$ 150,000.00	\$ 150,000.00	\$ 247,000.00	\$ 247,000.00	\$ 187,149.00	\$ 187,149.00	\$ 285,870.00	\$ 285,870.00
135	626-01000	Public Information Services	1.	LS	\$ 24,000.00	\$ 24,000.00	\$ 10,000.00	\$ 10,000.00	\$ 10,000.00	\$ 10,000.00	\$ 13,750.00	\$ 13,750.00
136	627-00013	Pavement Marking Paint (High Build)	1.	GAL	\$ 99.00	\$ 99.00	\$ 310.00	\$ 310.00	\$ 10.00	\$ 10.00	\$ 300.00	\$ 300.00
137	627-00008	Modified Epoxy Pavement Marking	11.	GAL	\$ 110.00	\$ 1,210.00	\$ 480.00	\$ 5,280.00	\$ 575.00	\$ 6,325.00	\$ 460.00	\$ 5,060.00
138	627-02010	Preformed Plastic Pavement Marking (Type II)	973.	SF	\$ 15.00	\$ 14,595.00	\$ 29.00	\$ 28,217.00	\$ 30.00	\$ 29,190.00	\$ 27.50	\$ 26,757.50
139	627-30407	Preformed Thermoplastic Pavement Marking (Word-Symbol) (Special)	776.	SF	\$ 11.00	\$ 8,536.00	\$ 24.00	\$ 18,624.00	\$ 20.00	\$ 15,520.00	\$ 23.00	\$ 17,848.00
140	627-30411	Preformed Thermoplastic Pavement Marking (Xwalk-Stop Line) (Special)	1,048.	SF	\$ 8.25	\$ 8,646.00	\$ 22.00	\$ 23,056.00	\$ 20.00	\$ 20,960.00	\$ 21.00	\$ 22,008.00
141	630-00000	Flagging	2,100.	HOUR	\$ 25.00	\$ 52,500.00	\$ 43.00	\$ 90,300.00	\$ 48.00	\$ 100,800.00	\$ 45.80	\$ 96,180.00
142	630-00007	Traffic Control Inspection	48.	DAYS	\$ 195.00	\$ 9,360.00	\$ 390.00	\$ 18,720.00	\$ 550.00	\$ 26,400.00	\$ 57.25	\$ 2,748.00
143	630-00012	Traffic Control Management	120.	DAYS	\$ 875.00	\$ 105,000.00	\$ 1,705.00	\$ 204,600.00	\$ 2,900.00	\$ 348,000.00	\$ 1,830.00	\$ 219,600.00
144	630-80336	Barricade (Type 3 M-B) (Temporary)	12.	EA	\$ 220.00	\$ 2,640.00	\$ 610.00	\$ 7,320.00	\$ 50.00	\$ 600.00	\$ 172.00	\$ 2,064.00
145	630-80341	Construction Traffic Sign (Panel Size A)	126.	EA	\$ 55.00	\$ 6,930.00	\$ 110.00	\$ 13,860.00	\$ 5.00	\$ 630.00	\$ 17.15	\$ 2,160.90
146	630-80342	Construction Traffic Sign (Panel Size B)	44.	EA	\$ 71.50	\$ 3,146.00	\$ 122.00	\$ 5,368.00	\$ 5.00	\$ 220.00	\$ 17.15	\$ 754.60
147	630-80343	Construction Traffic Sign (Panel Size C)	8.	EA	\$ 88.00	\$ 704.00	\$ 135.00	\$ 1,080.00	\$ 5.00	\$ 40.00	\$ 17.15	\$ 137.20

Bid Summary
23652 - Horizon Drive and G Road Roundabout

Bid Opening: January 17, 2025

By: Lisa Froshaug, Project Engineer

Item No.	CDOT, City Ref.	Description	Quantity	Units	Estimate - City of Grand Junction		Sunroc Corp		KSK LLC		United Companies	
					Unit Price	Extended Price	Unit Price	Extended Price	Unit Price	Extended Price	Unit Price	Extended Price
148	630-80344	Construction Sign Panel (Special)	112.	SF	\$ 22.00	\$ 2,464.00	\$ 48.75	\$ 5,460.00	\$ 20.00	\$ 2,240.00	\$ 23.00	\$ 2,576.00
149	630-80355	Portable Message Sign Panel	4.	EA	\$ 4,900.00	\$ 19,600.00	\$ 2,450.00	\$ 9,800.00	\$ 10,000.00	\$ 40,000.00	\$ 8,585.00	\$ 34,340.00
150	630-80357	Advance Warning Flashing or Sequencing Arrow Panel (B Type)	5.	EA	\$ 1,100.00	\$ 5,500.00	\$ 850.00	\$ 4,250.00	\$ 50.00	\$ 250.00	\$ 575.00	\$ 2,875.00
151	630-80360	Drum Channelizing Device	140.	EA	\$ 22.00	\$ 3,080.00	\$ 48.50	\$ 6,790.00	\$ 30.00	\$ 4,200.00	\$ 28.60	\$ 4,004.00
152	630-80364	Drum Channelizing Device (With Light) (Steady)	20.	EA	\$ 27.50	\$ 550.00	\$ 55.00	\$ 1,100.00	\$ 30.00	\$ 600.00	\$ 28.60	\$ 572.00
153	630-80370	Barrier (Temporary)	200.	LF	\$ 50.00	\$ 10,000.00	\$ 37.00	\$ 7,400.00	\$ 100.00	\$ 20,000.00	\$ 74.00	\$ 14,800.00
154	630-80380	Traffic Cone	20.	EA	\$ 11.00	\$ 220.00	\$ 1.25	\$ 25.00	\$ 5.00	\$ 100.00	\$ 17.15	\$ 343.00
155	630-80390	Channelizing Device (Special)	90.	EA	\$ 22.00	\$ 1,980.00	\$ 48.00	\$ 4,320.00	\$ 50.00	\$ 4,500.00	\$ 28.60	\$ 2,574.00
156	630-85010	Impact Attenuator (Temporary)	2.	EA	\$ 5,225.00	\$ 10,450.00	\$ 5,700.00	\$ 11,400.00	\$ 10,000.00	\$ 20,000.00	\$ 2,060.00	\$ 4,120.00
157	632-00000	Night Work Lighting	30.	DAY	\$ 250.00	\$ 7,500.00	\$ 675.00	\$ 20,250.00	\$ 3.00	\$ 90.00	\$ 2,915.00	\$ 87,450.00
158	700-70023	F/A On The Job Trainee	3,200.	FA	\$ 1.00	\$ 3,200.00	\$ 1.00	\$ 3,200.00	\$ 1.00	\$ 3,200.00	\$ 1.00	\$ 3,200.00
159	700-70019	F/A Asphalt Cement Cost Adjustment	2,000.	FA	\$ 1.00	\$ 2,000.00	\$ 1.00	\$ 2,000.00	\$ 1.00	\$ 2,000.00	\$ 1.00	\$ 2,000.00
160	700-70016	F/A Fuel Cost Adjustment	2,500.	FA	\$ 1.00	\$ 2,500.00	\$ 1.00	\$ 2,500.00	\$ 1.00	\$ 2,500.00	\$ 1.00	\$ 2,500.00
161	700-70111	F/A Project First Program	1,000.	FA	\$ 1.00	\$ 1,000.00	\$ 1.00	\$ 1,000.00	\$ 1.00	\$ 1,000.00	\$ 1.00	\$ 1,000.00
162	700-70013	F/A Concrete Pavement Incentive	50,000.	FA	\$ 1.00	\$ 50,000.00	\$ 1.00	\$ 50,000.00	\$ 1.00	\$ 50,000.00	\$ 1.00	\$ 50,000.00
163	700-70010	F/A Minor Contract Revisions	115,600.	FA	\$ 1.00	\$ 115,600.00	\$ 1.00	\$ 115,600.00	\$ 1.00	\$ 115,600.00	\$ 1.00	\$ 115,600.00
0	0		---	---	\$ -	\$ -	\$ -	\$ -	\$ -	\$ -	\$ -	\$ -
TOTAL BID:						\$ 3,402,153.64		\$ 3,989,783.41 [1]		\$ 4,365,000.00		\$ 4,499,963.90

[1] - corrected extension

[2] - corrected total